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7. e 5 AL 2] FEIZE U R 9} T ol o] ARIA] 1=
AL,
O 3.5x1.57 @ 620 x2.43 @ 9x5.06

@ 75x%0.88 ® 349x1.22
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= 5 AL AT OE A2 o]k ARIA] A2A L.
® 2.17x10 @ 21.7x0.01
@ 217x0.1

® 0.217 x 100
® 2170 % 0.01
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2

3.28x5.75x0.6:%x%}xé

= 1%0 =11.316

@ 100,575,100, 10000 ® 10,575,100, 100000
® 100, 575,10,10000 @ 100,575,100, 1000000

® 100, 575,10, 100000



10. g Al 59 F FA AXDI} 71 2 AL oL AU

D 0.2x1.5%x5.9 @ 0.02x1.5x%x59
® 2x0.15%59 @ 0.2x0.15%5.9

® 0.02x15x5.9



11. 36x53 = 1908 & o]-g5}o], A4to] HE= 454

AU

® 36 x0.53 =1.908
® 36 x0.053 = 1.908

® 0.0036 x 53 = 0.01908
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@ 0.36 x 53 = 1.908

@ 360 x5.3=190.8
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@ 53.436 x 10 = 5343.6 @ 534.36 x 100 = 534360
® 12.49x0.01 = 1.249 @ 12.49%0.1 =0.1249

® 124.9 x 0.001 = 0.1249



e 5 B9 2589 AR 257
A4 DA S

@ 7.2x3.581 @ 9.45x0.25

@ 5.08x9.21 ® 42.69x 1.7

ofeh Al 2te] 491 A of

® 6.84 x 2.86



14. [ Rto] Solz 47k vhoia] o] Aet BE 2L ol AQA) 32

Al
® 0.068%x] |=6.38 @ [ ]x0.259 =259
@ [ |x4.05 =405 @ 2.85x[ |=285

® [ ]x0.2887 = 28.87
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19. 176x248 = 43648 42 &
T2AQ.

@D 176 x 0.248 = 43.648
® 176 x 24.8 = 4364.8

® 1.76 x 24.8 = 43.648

@ 0.176 x 248 = 43.648

@ 17.6 x 248 = 4.3648
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20. b % A At GuLE 2 RS wE D240,

D Ox04 @ @x1.6 ® 1.02xE
@ 0.1xE ® 0.085 x



